
Home » Iogear » IOGEAR GRSH01 Fixed Server Rack Cabinet Shelf Instruction Manual  

Quick Start Guide
Adjustable Depth Fixed Rack Shelf –

Vented/Heavy Duty

Contents
1  Package Contents
2  System Requirements
3  Overview
4  Hardware Installation
5  Limited Warranty
6  Contact
7  Compliance
Information
8  Documents / Resources

8.1  References

Package Contents

1 x 1U Rack Shelf
2 x Front Mounting Brackets
2 x Rear Mounting Brackets
8 x M6x12mm Screws
8 x M6 Cage Nuts
8 x Plastic Washers
1 x Quick Start Guide

System Requirements

IOGEAR GRSH01 Fixed Server Rack Cabinet Shelf Instruction
Manual

Manuals+ —  User Manuals Simplified.

https://manuals.plus/#content
https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/iogear
https://manuals.plus/iogear/grsh01-fixed-server-rack-cabinet-shelf-manual.pdf
https://manuals.plus/#package_contents
https://manuals.plus/#system_requirements
https://manuals.plus/#overview
https://manuals.plus/#hardware_installation
https://manuals.plus/#limited_warranty
https://manuals.plus/#contact
https://manuals.plus/#compliance_information
https://manuals.plus/#documents_resources
https://manuals.plus/#references


Mounting to Square Cage Holes:

The included M6 cage nuts will be needed along with the M6 Screws and washers.

Mounting to M6 Threaded Holles:

No cages nuts are needed. Only M6 screws and washers are needed.

Overview

1. Shellf Surface

-Mount the server rack equipment

• The 1U Shelf Body is 27.5in (700mm) deep, not including the adjustable mounting brackets

2. Ventilation Holes

-Promote air flow for the mounted equipment. (Onlly applies to GRSH01)

3. Front Mounting Brackets

-Fasten Shelf to the Front Posts of the rack or cabinet

-Holes on the sides of the Mounting Brackets allow for Depth Adjustment. M6x12mm Panel Screws (x 4) secure

the Mounting Brackets to the desired depth

4. Rear Mounting Brackets

-Fasten Shelf to the Rear Posts of the rack or cabinet

-Holes on the sides of the Mounting Brackets allow for Depth Adjustment. M6x12 mm Panel Screws (x 4)

secure the Mounting Brackets to the desired depth

Hardware Installation

1. Locate a suitable location in the rack or cabinet to mount the Shelf, The Shelf requires 1U of Space. To mount

the shelf level, ensure the mounting brackets are mounted on the same U height number. To determine this,

most of the four posts racks or cabinets have labeled front and rear posts.

2. Determine the Depth of the Mounting Posts on the rack, The Adjustable Mounting Depth of the Shelf is from

19.5 in (495 mm) to 38,3in (974 mm),

3. Use a Phillips Head Screwdriver to Loosen the Panel Screws of the Front and Rear Mounting Brackets so they



can slide freely. Each Mounting Bracket uses Two Panel Screws.

4. (Optional) Remove all the Panel Screws (x 8) of the Front and Rear Mounting Brackets if the adjustment

requires different Depth Adjustment Holes on the sides of the Shelf.

5. Adjust the Front and Rear Mounting Brackets to achieve the same Mounting Depth as the Mounting Posts of

the rack, Next, secure the Panell Screws (x 8) of the Front and Rear Mounting Brackets with a Phillips Head

Screwdriver,

6. (Optional) Install the M6 Cage Nuts (x 8) into the appropriate Cage Nut Holes (x 8) on the chosen U Height

Number on the Mounting Posts of the rack. Use a cage nut tool if available or your preferred installation method

to install the M6 Cage Nuts.

7. Place the M6 Plastic Washers (x 8) onto the M6x12mm Screws (x 8).

8. Place the Shelf into the rack in the chosen U Height Number. Align the Mounting Holles of the Front Mounting

Posts of the rack with the Front Mounting Brackets. Keep supporting the weight of the shelf.

9. Use a Phillips Head Screwdriver to install the M6x12mm Screws and fasten the Front Mounting Brackets to the

Front Mounting Posts of the rack, Ensure the M6 Screws are properly tightened.

10. Repeat Step 8 for the Rear Mounting Brackets.

11. (Optional) Make minor depth adjustments to the Front and Rear Mounting Brackets as needed.

Limited Warranty

Warranty Information
This product carries a 3 Year Limited Warranty. For the terms and conditions of this warranty, please go to
https://www.iogear.com/support/warranty
Register online at https://www.iogear.com/register
Important Product Information
Product Model
Serial Number

Contact

WE’RE HERE TO HELP YOU!
NEED ASSISTANCE SETTING UP THIS PRODUCT?
Make sure you:

1. Visit www.jogear.com for more product information

2. Visit www.logear.com/support for live help and product support

IOGEAR
jogear.custhelp.com
support@iogear.com
www.logear.com

Compliance Information

Federal Communication Commission Interference Statement
This equipment has been tested and found to comply with the limits for a Class B digital service, pursuant to Part
15 of the FCC rules. These limits are designed to provide reasonable protection against harmful interference in a
residential installation. Any changes or modifications made to this equipment may void the user’s authority to
operate this equipment. This equipment generates, uses, and can radiate radio frequency energy. If not installed
and used in accordance with the instructions, may cause harmfull interference to radio communications. However,

https://www.iogear.com/support/warranty
https://www.iogear.com/register
http://www.jogear.com
http://www.logear.com/support
http://jogear.custhelp.com
mailto:support@iogear.com
http://www.logear.com


there is no guarantee that interference will not occur in a particular installation. If this equipment does cause
harmful interference to radio or television reception, which can be determined by turning the equipment off and on,
the user is encouraged to try to correct the interference by one or more of the following measures:

Reorient or relocate the receiving antenna

Increase the separation between the equipment and receiver

Connect the equipment into an outlet on a circuit different from that to which the receiver is connected

Consult the dealer or an experienced radio/TV technician for help

FCC Caution: Any changes or modifications not expressly approved by the party responsible for compliance
could void the user’s authority to operate this equipment.
This device complies with Part 15 of the FCC Rules, Operation is subject to the following two conditions:

1. this device may not cause harmful interference, and

2. this device must accept any interference received, including interference that may cause undesired operation.

CE Statement:
This device has been tested and found to comply with the following European Union directives: Electromagnetic
Capability (2004/108/EC), Low Voltage (2006/95/EC) and R&TTED (1999/5/EC).

Documents / Resources

IOGEAR GRSH01 Fixed Server Rack Cabinet Shelf  [pdf] Instruction Manual
GRSH01, GRSH02, GRSH01 Fixed Server Rack Cabinet Shelf, GRSH01, Fixed Server Rack C
abinet Shelf, Server Rack Cabinet Shelf, Rack Cabinet Shelf, Cabinet Shelf, Shelf

References

User Manual

Manuals+, Privacy Policy

This website is an independent publication and is neither affiliated with nor endorsed by any of the trademark owners. The "Bluetooth®" word mark and logos are registered trademarks owned by Bluetooth
SIG, Inc. The "Wi-Fi®" word mark and logos are registered trademarks owned by the Wi-Fi Alliance. Any use of these marks on this website does not imply any affiliation with or endorsement.

https://manuals.plus/m/0171d32b31f579c9cfe8d4be0f203f569e5a55758cf0909640e6bfd4d0014944
https://manuals.plus/m/0171d32b31f579c9cfe8d4be0f203f569e5a55758cf0909640e6bfd4d0014944_optim.pdf
https://manual.tools/?p=15628644#MTA0LjI4LjIwMi4xNzg7Ozs7
https://manuals.plus/
https://manuals.plus/privacy-policy

	IOGEAR GRSH01 Fixed Server Rack Cabinet Shelf Instruction Manual
	Package Contents
	System Requirements
	Overview
	Hardware Installation
	Limited Warranty
	Contact
	Compliance Information
	Documents / Resources
	References



